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Note :– This paper is of Seventy (70) marks divided into

Two (02) Sections ‘A’ and ‘B’. Attempt the

questions contained in these Sections according to

the detailed instructions given therein. Candidate s

s h ould lim it th e ir answ ers to th e qu e stions on th e

given answ er s h e et. No additional (B) answ er

s h e et w ill be is su ed.

   (70)     (02) 

          





       





A–540/BAEC–102 ( 2 )

Section–A

–

Long Answ er Type Questions

  2×19=38

Note :– Section ‘A’ contains Five (05) Long-answer

type questions of Nineteen (19) marks each.

Learners are required to answer any tw o (02)

questions only.

 (05) 

(19) 

(02) 

1. What do you understand by national income ? Give

your suggestions for its growth ?



 

2. How many types of inflation are there ? What is the

reason for persistent inflation in India ?





3. Explain the financial sources of schemes in India.





A–540/BAEC–102 ( 3 ) P.T.O .

4. What is the objective of agricultural marketing ? What

is the status of agricultural marketing in India ?





5. Explain in detail the contribution of small scale industries

in the Indian economy.

      



Section–B

–

Sh ort Answ er Type Questions

  4×8=32

Note :– Section ‘B’ contains Eight (08) Short-answer type

questions of Eight (08) marks each. Learners are

required to answer any four (04) questions only.

     (08)      

(08)

(04) 

1. Explain the role of natural resources in the Indian

economy.

   


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2. What are the reasons for income inequality in India and

what are the ways to reduce it ?





3. Give a brief account of the advantages and shortcomings

of various sources of financial planning management in

India.





4. What are the trends of agricultural production and

productivity in India ?



5. Describe the shortcomings of the Indian money market.



6. Give a brief description of the objectives and functions

of the World Trade Organization.

         



7. Write a short note on NABARD.



8. What is Deficit Financing ?



**************


